
2 3 4 5 6 7 8 9 10 11 12

A

B

C

D

E

F

G

H

A

B

C

D

E

F

G

H

1 2 3 4 5 6 7 8 9 10 11 12

ZAUPNO / CONFIDENTIAL
Ri
sb

e 
so

 l
as

t 
dr

už
be

 H
id
ria

 d
.o
.o
. i
n 

pr
ed

st
av

lja
jo
 p

os
lo
vn

o 
sk

riv
no

st
 in

 s
o 

av
to

rs
ko

 d
el
o.

Vs
e 

pr
av

ice
 iz

 p
at

en
to

v,
 b

la
go

vn
ih
 z

na
mk

 in
 m

od
el
ov

 p
ov

ez
an

ih
 z

 r
is
ba

mi
 p

rip
ad

aj
o 

dr
už

bi
 H

id
ria

 R
ot

om
at

ik
a 

d.
o.
o.
.

Vs
ak

 p
re

no
s 

tr
et

jim
 o

se
ba

m 
br

ez
 p

is
ne

ga
 d

ov
ol
je
nj
a 

dr
už

be
 H

id
ria

 R
ot

om
at

ik
a 

d.
o.
o.
 je

 s
tr
og

o 
pr

ep
ov

ed
an

.

Al
l 
dr

aw
in
gs

, 
re

ga
rd

le
ss

 o
f 
fo

rm
, 
ar

e 
ow

ne
d 

by
 H

id
ria

 d
.o
.o
. a

nd
 a

re
 s

tr
ict

ly
 c
on

fid
en

tia
l 
an

d 
pr

es
en

t
co

py
rig

ht
s.
 In

te
lle

ct
ua

l 
Pr

op
er

ty
 R

ig
ht

s 
as

 f
ol
lo
ws

 r
ig
ht

s 
un

de
r 
th

e 
la
ws

 o
f 
pa

te
nt

s,
 p

et
ty

 p
at

en
ts

, d
es

ig
n 

pa
te

nt
s

an
d 

re
gi
st

er
ed

 d
es

ig
ns

, 
co

py
rig

ht
s,
 t
ra

de
 s

ec
re

t 
rig

ht
s,
 a

nd
 s

im
ila

r 
ex

cl
us

iv
e 

rig
ht

s 
in
 in

du
st

ria
l 
pr

op
er

ty
 c
on

ne
ct
ed

wi
th

 t
he

 d
ra

wi
ng

s 
ar

e 
re

se
rv

ed
 b

y 
Hi
dr

ia
 R

ot
om

at
ik
a 

d.
o.
o.
. D

is
cl
os

ur
e 

to
 a

ny
 t
hi
rd

 p
at

ry
 is

 s
tr
ict

ly
 f
or

bi
dd

en
.

1

POVRSINSKA OBD.
SURFACE TEXTURE

NETOL. MERE/UNTOL DIM.

MERILO/FORMAT

KODA MATERIALA
MATERIAL CODE

NAZIV:
TITLE:

KODA:
CODE:

LIST/SHEET:

IME / NAME

VERZIJA ARTIKLA:
REVISION ARTICLE:

DZJ

VERZIJA RISBE:
DRW REVISION:

MATERIAL

MASA:
MASS:

DATUM/DATE

VENTILATOR
R10R-45APS-ES50B-09C05

KONSTRUIRAL / DRN: 09.03.2020 Uroš Kunc

ODOBRIL / APP:

Potrjeno/Approved

0310-4-0127
0310-4-0127 AC AC ISO 2768-m 

2:5/A3 1/2

_

Priključna shema 0302-0-0006 na listu 2
Connection diagram 0302-0-0006 on page 2
Podatki za nastavljanje in kontrolo motorja z ventilatorjem 0302-4-0116.
Fan setting and control data 0302-4-0116.

1  200-240V 50-60Hz 300W 2,05A
1280RPM MAX.AMB.65 C IP54

DATE

R10R-45APS-ES50B-09C05             0310-4-0127

ErP: Effes=48,3% (A,static) N=57,8 VSD integrated

INS.CL.130 TH.PROT. ROT.EN
60

33
5 QR 

code

Hidria d.o.o.
Sl-5281 Sp. Idrija

M12x1,5
( 3- 6,5)

_

DETAJL A:

1:1
DETAJL A:

AIRFLOW DIRECTION
SMER ZRAKA

SUCKING

WARNING!
Dangerous voltages!

Capacitor discharge time 5min!

WA
RN
ING

!

Da
ng
eo
rus

 vo
lta

ge
s! 

Ca
pa
cit
or 

dis
cha

rge
 ti
me
 5m

in!

44
6 

1
47

4 
1

51
5 

1

51 2
132 3

47 3
9 +0,5
  0

179 4

5 0,5
Pozicija ventilatorja
Position of fan

Verzija Artikla:
Article revision:

Verzija risbe:
DRW Revision:

Opis spremembe:
Description of change:

Datum:
Date:

Izdelal:
Produced:

AC AC Popravljeni podatki o uvodnici z M12x1,5 ( 3,5- 7) na M12x1,5 ( 3- 6,5),
v nazivni nalepki popravljen naslov podjetja. Risba v Windchillu je skladna z risbo v arhivu.
Cable gland data correction from M12x1,5 ( 3,5- 7) to M12x1,5 ( 3- 6,5)
in nominal data label corrected company name.

09.03.2020 Uroš K.

16.03.2020 Jure Laharnar



A

B

C

D

E

1 2 3 4

A

B

C

D

E

F

1 2 3 4

F

Ri
sb

e 
so

 l
as

t 
dr

už
be

 H
id
ria

 d
.o
.o
. i
n 

pr
ed

st
av

lja
jo
 p

os
lo
vn

o 
sk

riv
no

st
 in

 s
o 

av
to

rs
ko

 d
el
o.

Vs
e 

pr
av

ice
 iz

 p
at

en
to

v,
 b

la
go

vn
ih
 z

na
mk

 in
 m

od
el
ov

 p
ov

ez
an

ih
 z

 r
is
ba

mi
 p

rip
ad

aj
o 

dr
už

bi
 H

id
ria

 R
ot

om
at

ik
a 

d.
o.
o.
.

Vs
ak

 p
re

no
s 

tr
et

jim
 o

se
ba

m 
br

ez
 p

is
ne

ga
 d

ov
ol
je
nj
a 

dr
už

be
 H

id
ria

 R
ot

om
at

ik
a 

d.
o.
o.
 je

 s
tr
og

o 
pr

ep
ov

ed
an

.

Al
l 
dr

aw
in
gs

, 
re

ga
rd

le
ss

 o
f 
fo

rm
, 
ar

e 
ow

ne
d 

by
 H

id
ria

 d
.o
.o
. a

nd
 a

re
 s

tr
ict

ly
 c
on

fid
en

tia
l 
an

d 
pr

es
en

t
co

py
rig

ht
s.
 In

te
lle

ct
ua

l 
Pr

op
er

ty
 R

ig
ht

s 
as

 f
ol
lo
ws

 r
ig
ht

s 
un

de
r 
th

e 
la
ws

 o
f 
pa

te
nt

s,
 p

et
ty

 p
at

en
ts

, 
de

si
gn

 p
at

en
ts

an
d 

re
gi
st

er
ed

 d
es

ig
ns

, 
co

py
rig

ht
s,
 t
ra

de
 s

ec
re

t 
rig

ht
s,
 a

nd
 s

im
ila

r 
ex

cl
us

iv
e 

rig
ht

s 
in
 in

du
st

ria
l 
pr

op
er

ty
 c
on

ne
ct
ed

wi
th

 t
he

 d
ra

wi
ng

s 
ar

e 
re

se
rv

ed
 b

y 
Hi
dr

ia
 R

ot
om

at
ik
a 

d.
o.
o.
. D

is
cl
os

ur
e 

to
 a

ny
 t
hi
rd

 p
at

ry
 is

 s
tr
ict

ly
 f
or

bi
dd

en
. ZAUPNO / CONFIDENTIAL

POVRSINSKA OBD.
SURFACE TEXTURE

NETOL. MERE/UNTOL DIM.

MERILO/FORMAT

KODA MATERIALA
MATERIAL CODE

NAZIV:
TITLE:

KODA:
CODE:

LIST/SHEET:

IME / NAME

VERZIJA ARTIKLA:
REVISION ARTICLE:

DZJ

VERZIJA RISBE:
DRW REVISION:

MATERIAL

MASA:
MASS:

DATUM/DATE

VENTILATOR
R10R-45APS-ES50B-09C05

KONSTRUIRAL / DRN: 09.03.2020 Uroš Kunc

ODOBRIL / APP: 16.03.2020 Jure Laharnar

Potrjeno/Approved

0310-4-0127
0310-4-0127 AC AC ISO 2768-m 

1:1/A4 2/2

IMPORTANT:
 
This appliance is solely intended as a build-in component and should not be operate otherwise.
Do not cycling the power supply for cycling operation mode - use control singnal!
High 'In-rush current' can occur during cycling power supply!

FAN MOTOR

MOD-BUS
serial com.

Connecting diagram 0302-0-0006

GREEN/YELLOW

BLUE

BLUE

POWER CABLE

BLACK

BROWN

RED

YELLOW

CONTROL CABLE

L
+1
0V

DC
GN

D

10
0k

Max. speed
sensor

(Variable resistance) potentiometer

se
ns

or

Alarm
circuit

PWM
frequency input

1-10kHz

10k

PWM

analog input 
0-20mA

50
0

0-20mA

0-20mA loop

0-20mA
N

PE

max 10mA

EM
I f

ilt
er

terminals

WARNING:
- Before opening connection box switch off electric power!
- Dangeorus voltages, capacitor discharge time 5min!

Co
nt

ac
t 
ra

tin
g:

2A
 2

50
VA

C
GREEN

RS
-B

RS
-A

0-
10
V

FUSE

NOTE:
Please read user's guide before putting the fan into operation.
Read user's guide about analog inputs or mod-bus protocols

WHITE

TK

WHITE

TK

SELV circuit
POSSIBLE SOLUITIONS FOR CONTROL CIRCUIT / customer's circuit: 
(MOD-BUS, voltage input, fixed speed, sensors, potentiometer, pwm generator, current loop...)

R (10k)

1k
 ..
 1
0k

 L
IN

analog input
0-10V

terminals

Power-supply
circuit


	Sheet 1
	Views
	new_view_1
	right_10
	DETAJL A:


	Sheet 2

